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TeopeTnyeckoe oby4deHne u
paccpefoTOYEeHHbIE MPaKTUKK

SK3aMeHaUMOHHble ceccum

m




3aLmTa BbIMYCKHON KBanMhuKaLMOHHOM
[ |paboTbl, BKAOYas NOArOTOBKY K 2 2 2
npoueaype 3alwuThbl U Npoueaypy 3aluuThbl
r MoaroToBka K caaye u caaya roc. ) ) )
3K3aMeHa
K [KaHukynbl 1 7 8 1 7 8 1 7 8 1 8 9 33
Hepaboune npasgHuYHble gHK (He ! 2 ! 2 ! 2 ! z S
* BKJS}Oan BOCIE) egeHbFI) A 2/60d|5/600(1/61|2/60|5/601|1/61|2/60|5/61(1/6[1|2/61(5/61|1/61|4/6[1
P (8 (6 1 (131 (8 (6 1 (131 (8 (5 1 (131 (8 (5 1131 (52
MpogomknTensHOCTb 0byyeHns [
(He BkOYast Hepaboumne npasaHUYHbIE OHW 1 6onee 39 Hen 6onee 39 Hen 6onee 39 Hen 6onee 39 Hen
KaHMWKY/bl)
Z3 T Z8 Z3 T Z8 Z3 T Z8 Z3 T Z8
Wroro al6 | 216 | 52 | 46 | 2ie | 52 | 46 | 2is | 52 | 46 | 2is | 52 | 208
CryoeHToB 3 3 6 1
pynn 1 1 1 1




